# A q-analog of Jacobi's two squares formula and its applications 

José Manuel Rodriguez Caballero

## To cite this version:

José Manuel Rodriguez Caballero. A q-analog of Jacobi's two squares formula and its applications. Hardy-Ramanujan Journal, 2023, Volume 45-2022, pp. $84-87$. 10.46298/hrj.2023.10908 . hal03914218

HAL Id: hal-03914218

## https://hal.science/hal-03914218

Submitted on 28 Dec 2022

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire HAL, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

# A $q$-analog of Jacobi's two squares formula and its applications 

José Manuel Rodríguez Caballero


#### Abstract

We consider a $q$-analog $r_{2}(n, q)$ of the number of representations of an integer as a sum of two squares $r_{2}(n)$. This $q$-analog is generated by the expansion of a product that was studied by Kronecker and Jordan. We generalize Jacobi's two squares formula from $r_{2}(n)$ to $r_{2}(n, q)$. We characterize the signs in the coefficients of $r_{2}(n, q)$ using the prime factors of $n$. We use $r_{2}(n, q)$ to characterize the integers which are the length of the hypotenuse of a primitive Pythagorean triangle.


Keywords. Jacobi's two squares formula, $q$-analog, primitive Pythagorean triplet.
2010 Mathematics Subject Classification. 11C08, 11E25, 11N13.

## 1. Introduction

Using the formal identity

$$
\begin{equation*}
\prod_{m=1}^{\infty} \frac{1-(-t)^{m}}{1+(-t)^{m}}=\sum_{n=-\infty}^{\infty} t^{n^{2}} \tag{1.1}
\end{equation*}
$$

due to C.F. Gauss [Gau1866], the generating function for the number of representations of an integer $n$ as the sum of the squares of two integers, denoted $r_{2}(n)$, immediately follows,

$$
\begin{equation*}
\prod_{m=1}^{\infty} \frac{\left(1-(-t)^{m}\right)^{2}}{\left(1+(-t)^{m}\right)^{2}}=1+\sum_{n=1}^{\infty} r_{2}(n) t^{n} \tag{1.2}
\end{equation*}
$$

C. G. J. Jacobi [Jac1829] expressed $r_{2}(n)$ as a function of the divisors of $n \geq 1$,

$$
\begin{equation*}
r_{2}(n)=4 d_{1,4}(n)-4 d_{3,4}(n) \tag{1.3}
\end{equation*}
$$

where $d_{k, m}(n)$ is the number of divisors of $n$ which are congruent to $k$ modulo $m$.
The explicit formula for $r_{2}(n, q)$ defined by the expansion of the product

$$
\begin{equation*}
\prod_{m=1}^{\infty} \frac{\left(1-(-q t)^{m}\right)^{2}}{\left(1+q(-q t)^{m}\right)\left(1+q^{-1}(-q t)^{m}\right)}=1+\sum_{n=1}^{\infty} r_{2}(n, q) t^{n} \tag{1.4}
\end{equation*}
$$

which is a $q$-deformation ${ }^{1}$ of identity (1.2), can be attributed to L. Kronecker [Kro1890], who proved a more general version and C. Jordan [Jor1894], who described a method to derive this particular case. The polynomial $r_{2}(n, q)$ was first introduced in the article [Cab19c], using the notation $\Gamma_{n}(q)$, and it was called Kassel-Reutenauer $q$-analog of the number of representations as a sum of two squares. Some versions of the polynomial $r_{2}(n, q)$, e.g., changing the sign of $q$ and sometimes dividing it by $q-1$ or by $(q-1)^{2}$, have been studied by several authors, in connection with different branches of mathematics: finite fields [KR18a, KR18b, Cab18], algebraic topology [HLR13], modular functions [KR17] and elementary number theory [Cab19b, Cab20, Cab19a].

[^0]The aim of the present note is to prove that there are polynomials $4 d_{1,4}(n, q)$ and $4 d_{3,4}(n, q)$ satisfying the following properties ${ }^{2}$ :
(i) all the coefficients of $4 d_{1,4}(n, q)$ and $4 d_{3,4}(n, q)$ are non-negative integers;
(ii) for every $k, q^{k}$ cannot appear with non-zero coefficient in both $4 d_{1,4}(n, q)$ and $4 d_{3,4}(n, q)$;
(iii) the decomposition of $r_{2}(n, q)$ into positive and negative parts,

$$
\begin{equation*}
r_{2}(n, q)=4 d_{1,4}(n, q)-4 d_{3,4}(n, q) \tag{1.5}
\end{equation*}
$$

holds;
(iv) $4 d_{1,4}(n, q)$ and $4 d_{3,4}(n, q)$ are $q$-analogs of $4 d_{1,4}(n)$ and $4 d_{3,4}(n)$ respectively, i.e., $4 d_{1,4}(n, 1)=$ $4 d_{1,4}(n)$ and $4 d_{3,4}(n, 1)=4 d_{3,4}(n)$.

Therefore, the identity (1.5) is a generalization of Jacobi's two squares formula from integers to polynomials. Considering that properties (i), (ii) and (iii) uniquely define the polynomials $4 d_{1,4}(n, q)$ and $4 d_{3,4}(n, q)$, it is non-trivial that they should also satisfy property (iv). Furthermore, as applications of this formula, we will determine when $r_{2}(n, q)$ has a negative coefficient by analyzing the prime factors of $n$. Also, we will use $r_{2}(n, q)$ to characterize the integers which are the length of the hypotenuse of a primitive Pythagorean triangle.

## 2. Generalization of Jacobi's formula

In this section we will prove our main result.
Theorem 2.1. Let $n$ be a positive integer. The polynomials

$$
\begin{align*}
& 4 d_{1,4}(n, q)=(q+1) \sum_{d \mid n}\left(q^{\left(\frac{2 n}{d}+1\right)(d-1) / 2}+q^{\left(\frac{2 n}{d}-1\right)(d+1) / 2}\right),  \tag{2.6}\\
& 4 d_{3,4}(n, q)=(q+1) \sum_{d \equiv 1(\bmod 4)}^{d \equiv 3{ }_{d \mid n}^{(\bmod 4)}} \boldsymbol{}\left(q^{\left(\frac{2 n}{d}+1\right)(d-1) / 2}+q^{\left(\frac{2 n}{d}-1\right)(d+1) / 2}\right),
\end{align*}
$$

satisfy properties (i), (ii), (iii) and (iv).
Proof. Property (i) immediately follows from the explicit expressions (2.6) and (2.7). Property (iv) is just the result of the evaluations of these expressions at $q=1$.

Property (iii) follows from the following formal manipulation. Take formula (0.100) from [Coo17],

$$
\begin{equation*}
\prod_{m=1}^{\infty} \frac{\left(1-t^{m}\right)^{2}}{\left(1-q t^{m}\right)\left(1-q^{-1} t^{m}\right)}=1+\left(q^{1 / 2}-q^{-1 / 2}\right) \sum_{d=1}^{\infty} \sum_{k=1}^{\infty} t^{d k}\left(q^{d-k / 2}-q^{-d+k / 2}\right) \tag{2.8}
\end{equation*}
$$

Replace $t$ by $q t$ in (2.8),

$$
\begin{equation*}
\prod_{m=1}^{\infty} \frac{\left(1-(q t)^{m}\right)^{2}}{\left(1-q(q t)^{m}\right)\left(1-q^{-1}(q t)^{m}\right)}=1+(q-1) \sum_{d=1}^{\infty} \sum_{\substack{k \geq 1 \\ k \text { odd }}} t^{d k}\left(q^{d k+d-k / 2-1 / 2}-q^{d k-d+k / 2-1 / 2}\right) \tag{2.9}
\end{equation*}
$$

where the restriction to only odd values of $k$ is because of the identity

$$
\begin{align*}
& \sum_{d=1}^{\infty} \sum_{\substack{k \geq 1 \\
k \text { even }}} t^{d k}\left(q^{d k+d-k / 2-1 / 2}-q^{d k-d+k / 2-1 / 2}\right)=\sum_{d=1}^{\infty} \sum_{e=1}^{\infty} t^{2 d e}\left(q^{2 d e+d-e-1 / 2}-q^{2 d e-d+e-1 / 2}\right)  \tag{2.10}\\
= & q^{-1 / 2}\left(\sum_{d=1}^{\infty} \sum_{e=1}^{\infty} t^{2 d e} q^{2 d e+d-e}-\sum_{d=1}^{\infty} \sum_{e=1}^{\infty} t^{2 d e} q^{2 d e-d+e}\right)  \tag{2.11}\\
= & 0 \tag{2.12}
\end{align*}
$$

[^1]Replace $q$ by $-q$ in (2.9),

$$
\begin{align*}
& \prod_{m=1}^{\infty} \frac{\left(1-(-q t)^{m}\right)^{2}}{\left(1+q(-q t)^{m}\right)\left(1+q^{-1}(-q t)^{m}\right)}=1+(q+1) \sum_{\substack{d=1 \\
k \geq 1 \\
k \text { odd }}}^{\infty} t^{d k}\left((-q)^{(2 d+1)(k-1) / 2}-(-q)^{(2 d-1)(k+1) / 2}\right)(2  \tag{2.13}\\
&= 1+(q+1) \sum_{d=1}^{\infty} \sum_{\substack{k \geq 1 \\
k \equiv 1 \\
(\bmod 4)}} t^{d k}\left((-q)^{(2 d+1)(k-1) / 2}-(-q)^{(2 d-1)(k+1) / 2}\right) \\
&+(q+1) \sum_{d=1}^{\infty} \sum_{k=1}^{k \geq 1} t^{d k}\left((-q)^{(2 d+1)(k-1) / 2}-(-q)^{(2 d-1)(k+1) / 2}\right)  \tag{2.14}\\
&= 1+(q+1) \sum_{d=1}^{\infty} \sum_{k=3}^{k \geq 1} t^{k \equiv 1} t^{(\bmod 4)} \\
&-(q+1) \sum_{d=1}^{\infty} \sum_{k=1} t^{d k}\left(q^{(2 d+1)(k-1) / 2}+q^{(2 d-1)(k+1) / 2}\right) \\
&= 1+\sum_{n=1}^{\infty}\left(4 d_{1,4}(n, q)-4 d_{3,4}(n, q)\right) t^{n} . \tag{2.15}
\end{align*}
$$

To prove property (ii), we proceed by reductio ad absurdum. Suppose that for some $k$, the coefficient of $q^{k}$ is non-zero in both $4 d_{1,4}(n, q)$ and $4 d_{3,4}(n, q)$. We need to analyze 16 possible cases. We will use the notations $d$ and $e$ for two arbitrary divisors of $n$ satisfying $d \equiv 1(\bmod 4)$ and $e \equiv 3(\bmod 4)$.

Let $f(x)=\left(\frac{2 n}{x}+1\right) \frac{x-1}{2}$. Notice that $f(x)$, on the domain $x>0$, is strictly increasing and satisfies the inequality $f(x+2)-f(x)>1$. Furthermore, $f\left(\frac{2 n}{x}\right)=\left(\frac{2 n}{x}-1\right) \frac{x+1}{2}$.

Notice that, $k=f(d)=f(e)$ implies $d=e$. Nevertheless, this is impossible because $d \not \equiv e(\bmod 4)$. In the same way, it is easy to prove that $k=f\left(\frac{2 n}{d}\right)=f\left(\frac{2 n}{d}\right)$ also implies an absurde. Similarly, $k=f(d)+1=f(e)+1$ and $k=f\left(\frac{2 n}{d}\right)+1=f\left(\frac{2 n}{d}\right)+1$ are impossible.

Notice that $k=f(d)=f\left(\frac{2 n}{e}\right)$ implies $d=\frac{2 n}{e}$. If this is the case, $d e=2 n$, which is absurd, since $d$ and $e$ are odd. In the same vein, $k=f\left(\frac{2 n}{d}\right)=f(e)$ is also absurd. Similarly, we exclude the cases $k=f(d)+1=f\left(\frac{2 n}{e}\right)+1$ and $k=f\left(\frac{2 n}{d}\right)+1=f(e)+1$.

Assume that $k=f(d)+1=f(e)$. It follows that $e>d$. Because $e$ and $d$ share the same parity (both are odd), $e \geq d+2$. Hence, $f(e)-f(d) \geq f(d+2)-f(d)>1$, which contradicts our assumption. In the same vein, it is easy prove that $k=f(d)=f(e)+1$ implies an absurd conclusion. Similarly, we exclude the cases, $k=f\left(\frac{2 n}{d}\right)+1=f\left(\frac{2 n}{e}\right)$ and $k=f\left(\frac{2 n}{d}\right)=f\left(\frac{2 n}{e}\right)+1$ by considering that $\frac{2 n}{d}$ and $\frac{2 n}{e}$ share the same parity (both are even).

Assume that $k=f(d)+1=f\left(\frac{2 n}{e}\right)$. On the one hand, $f(d)=\left(\frac{2 n}{d}+1\right) \frac{d-1}{2}$ is even, since $\frac{d-1}{2}$ is even. On the other hand $f\left(\frac{2 n}{e}\right)=\left(\frac{2 n}{e}-1\right) \frac{e+1}{2}$ is also even, since $\frac{e+1}{2}$ is even. We derive the absurd conclusion that $1=f\left(\frac{2 n}{e}\right)-f(d)$ should be even. In the same vein, we can easily prove that $k=f(d)=f\left(\frac{2 n}{e}\right)+1$ imples an absurd. Similarly, we can exclude the cases $k=f\left(\frac{2 n}{d}\right)+1=f(e)$ and $k=f\left(\frac{2 n}{d}\right)=f(e)+1$.

## 3. Applications

In this section we derive some immediate consequences of our generalization of Jacobi's formula.
Corollary 3.1. Let $n$ be a positive integer. The polynomial $r_{2}(n, q)$ has a negative coefficient if and only if some of the prime factors of $n$ are congruent to 3 modulo 4.

Proof. Considering that $d_{3,4}(n, q) \neq 0$ if and only if some of the prime factors of $n$ are congruent to 3 modulo 4 , the result immediately follows from Theorem 2.1 and the definition of $d_{1,4}(n, q)$ and $d_{3,4}(n, q)$.

We recall that $n$ is the hypotenuse of a primitive Pythagorean triangle if and only if for some pair of positive integers $u$ and $v$ the equality $u^{2}+v^{2}=n^{2}$ holds and $u, v$ and $n$ are relatively prime.

Corollary 3.2. An odd integer $n$ larger than 1 is the length of the hypotenuse of a primitive Pythagorean triangle if and only if all the coefficients of the polynomial $r_{2}(n, q)$ are non-negative.

Proof. E. J. Eckert [Eck84] proved that an integer larger than 1 is the hypotenuse of a primitive Pythagorean triangle if and only if all its prime factors are congruent to 1 modulo 4 . Combining this result with Corollary 3.1, the result follows.

## 4. Final remarks

In the spirit of the work of C. Kassel and C. Reutenauer [KR18b], the value of the polynomial $r_{2}(n, q)$, when $q$ is a prime power, may have a combinatorial interpretation in the ring $\mathbb{F}_{q}\left[X, Y, X^{-1}, Y^{-1}\right]$.

Let $r_{4}(n)$ be the number of representations of $n$ as the sum of 4 squares of integers. We suggest to empirically study the $q$-analog of $r_{4}(n)$ obtained from the square

$$
\begin{equation*}
\left(1+\sum_{n=1}^{\infty} r_{2}(n, q) t^{n}\right)^{2}=1+\sum_{n=1}^{\infty} r_{4}(n, q) t^{n} \tag{4.17}
\end{equation*}
$$

and check whether some of the classical results about $r_{4}(n)$ can be generalized to $r_{4}(n, q)$. The expansion of the corresponding product can be found in equation (0.101) of [Coo17].

## References

[Cab19a] Caballero, José Manuel Rodríguez, Integers Which Cannot Be Partitioned Into an Even Number of Consecutive Parts, Integers 19, (2019), A20.
[Cab20] Caballero, José Manuel Rodríguez, Jordan's Expansion of the Reciprocal of Theta Functions and 2-densely Divisible Numbers, Integers 20, (2020), A2
[Cab19b] Caballero, José Manuel Rodríguez, On a function introduced by Erdös and Nicolas, Journal of Number Theory 194 (2019) 381-389.
[Cab18] Caballero, José Manuel Rodríguez, On Kassel-Reutenauer $q$-analog of the sum of divisors and the ring $\mathbb{F}_{3}[X] / X^{2} \mathbb{F}_{3}[X]$, Finite Fields and Their Applications 51 (2018) 183-190.
[Coo17] Cooper, Shaun, Ramanujan's theta functions, Springer, 2017.
[Eck84] Eckert, Ernest J, The group of primitive Pythagorean triangles, Mathematics Magazine 57 (1984) 22-27.
[Gau1866] Gauß, Carl Friedrich, Werke: Herausgegeben von der königlichen Gesellschaft der Wissenschaften zu Göttingen, Vol 3, 1866.
[HLR13] Hausel, Tamás and Letellier, Emmanuel and Rodriguez-Villegas, Fernando, Arithmetic harmonic analysis on character and quiver varieties II, Advances in Mathematics 234 (2013) 85-128.
[Jac1829] Jacobi, Carl Gustav Jacob, Fundamenta nova theoriae functionum ellipticarum, Borntraeger, 1829.
[Jor1894] Jordan, Camille, Fonction elliptiques: Calcul Integral, Springer-verlag, 1894.
[KR18a] Kassel, Christian and Reutenauer, Christophe, Complete determination of the zeta function of the Hilbert scheme of $n$ points on a two-dimensional torus, The Ramanujan Journal 46 (2018) 633-655.
[KR18b] Kassel, Christian and Reutenauer, Christophe, Counting the ideals of given codimension of the algebra of Laurent polynomials in two variables, Michigan Mathematical Journal 67 (2018) 715-741.
[KR17] Kassel, Christian and Reutenauer, Christophe, The Fourier expansion of $\eta(z) \eta(2 z) \eta(3 z) / \eta(6 z)$, Archiv der Mathematik 108 (2017) 453-463.
[Kro1890] Kronecker, Leopold, Zur theorie der elliptischen functionen, Königlich Preussischen Akademie der Wissenschaften zu Berlin, 1890.
[Cab19c] Caballero, José Manuel Rodríguez, A Characterization of the Hypotenuses of Primitive Pythagorean Triangles Using Partitions into Consecutive Parts, The American Mathematical Monthly 126 (2019) 74-77.

## José Manuel Rodríguez Caballero

Départment de mathématiques et de statistique
Université Laval, Québec, Canada
$e$-mail: jose-manuel.rodriguez-caballero.1@ulaval.ca


[^0]:    We thank episciences.org for providing open access hosting of the electronic journal Hardy-Ramanujan Journal
    ${ }^{1} \mathrm{~A} q$-deformation of an expression $A(t)$ is another expression $A(t, q)$ satisfying $A(t, 1)=A(t)$.

[^1]:    ${ }^{2}$ We consider that it is more elegant to work with $4 d_{1,4}(n, q)$ and $4 d_{3,4}(n, q)$ rather than $d_{1,4}(n, q)$ and $d_{3,4}(n, q)$ because of property (i).

